ITI Instrument Mechanic 2nd Year Module 2 Mechanical and Electrical
pressure measuring instruments

(1). Working principle of piezo electric pressure transducer is ... | tﬂﬁﬁgﬁw

URR ISR &1 S RIid ...... g

(A) inverse piezo electric | 3% UlSll 3alaed
(B) piezo electric | Ul Saifacdh

(C) opto electric | 3ATDI Saifdcd

(D) thermo electric | Y™ Sallaed

Correct Answer : B

(2). The thermocouple instrument will measure.... | YAIHUA SUPBRT ...... G|
AU RT3 |

(A) Current | PC

(B) Voltage | diceol

(C) Flux | Yl

(D) Temperature | dIUHIA

Correct Answer : D

(3). Working principle of dead weight tester is ... | SE dC IR BT B Rigid

..... gl

(A) Boyle's law | S19d &1 HIH
(B) Charle’s law | T &1 fAgH
(C) Ohm's law | 3{1H &1 HIH



(D) Pascal’s law | U d &1 HIH

Correct Answer : D

(4). Which of the quantity is measured in the unit pascal? | @?Wﬁm
HHET &1 HIUT ST 82

(A) Force | dc

(B) Temperature | dUHIH
(C) Pressure | Gdld

(D) Impulse | 3TaT

Correct Answer : C

(5). Which barometer does not contain a liquid? | g SHeR ﬁ?ﬂﬂ:ﬁf@?ﬂ
87

(A) Barostat | RIAe

(B) Mercury barometer | URT SRR
(C) Fortin's barometer | BIfe dRIHeR
(D) Aneroid barometer | Qﬁﬁs@réﬁtﬂa

Correct Answer : D

(6). Why dead weight tester is used widely? | SS dc o BT AP U I

SUANT I fhar ST 82

(A) Producing high pressures | 3™l qdld S hRA]

(B) Testing magnitude of the given weight | QT T a5 & TiHTT 1 aRieur
HRHAT



(C) Calibration of other equipment | 3T JUBIUN B HRh HIAT
(D) Accurate measurement of loads | HR &1 I HIY HIAT

Correct Answer : C

(7). What should be the pressure range for selecting a gauge? | ﬂﬁﬂq%f%]%’l'q

GTd HIHT 1 gL Al T?
(A) Half the operating pressure | EELIBECICE IR
(B) Twice as the operating pressure | ICECIEREICES) Q\I{L"II

(C) Same as the operating pressure | EECIBECICE RIS
(D) Thrice the normal operating pressure | ﬁwmﬁ?ﬂ:{w

Correct Answer : B

(8). The error of an instrument is normally given as a percentage of..... | Tdh

SUHV D1 I MAAR W ....... WiaRId & FU A & S g |
(A) Measured value | TTTUd G

(B) Full scale value | JUf 9HM &1 AF

(C) Mean value | 3T HH

(D) RMS value | RMS A

Correct Answer : B

(9). Which instrument is used to measure very low pressure? | dfigd dH ¢dId Pl

AU & fore fore IUHRUT &1 SUTNT foat STt 82
(A) Manometer | AAHER
(B) Barometer | SRR



(C) Mcleod gauge | Apars I
(D) Multimeter | Hec IHIEY

Correct Answer : C

(10). Which law/principle is based on the working of dead weight pressure gauge

tester? | %%Wﬁﬁﬁ%ﬁmmﬁﬂﬂmw C"rl'[%ﬂﬁ_d%?
(A) Pascal’s law | IR d Bl F9H
(B) Dalton’s law of partial pressure | STec ] 3171 gard &1 g

(C) Newton’s law of viscosity | *gC- &1 GHdl &1 a9
(D) Avogadro’s hypothesis | leilglﬁw

Correct Answer : A

(11). A capacitive pressure sensor has a typical measurement uncertainty of

| e HoRiRa R IR P Ry Am sifRfydar skt |1
(A) +0.2%
(B) +0.1%
(C) +0.8%
(D) +0.4%

Correct Answer : A

(12). Which one is the limitation of bourdon tube? | W@ﬁ?ﬂmﬁ:{@
g?

(A) High pressure measurement | 3= qdld HIU
(B) Subjected to hysteresis | BRI & 3refi



(C) Low pressure measurement | H dld HJ

(D) Positive and negative pressure | P IRIHD G?IT'-IObRId-IOh cdld

Correct Answer : B

(13). Which is used as a pressure transducer? | TR giﬂsq\%ie & ¥ T fhge]

ST fobaT SATel g2

(A) Control valve | Waﬂc’_d

(B) Servomotor | ﬂﬁw

(C) Potentiometer | TIeARIS HIeR

(D) Electropneumatic converter | WWW

Correct Answer : C

(14). Sl unit of pressure is... | CEICEIN ng ...... %I
(A) Ohms
(B) Pascal
(C) Joules
(D) Watts

Correct Answer : B

(15). Which instrument has no eddy current and hysteresis losses? | fog Ius
T PIs B 3R e R dig el 82

(A) Electrostatic instrument | sﬁa@@%m

(B) PMMC instrument | PMMC U U]

(C) Moving iron instrument | Hﬁ"TC‘HIsQ"I SUD U]



(D) Electrodynamic meter instrument | ScidISIHTH® Hiex IUHRUT

Correct Answer : A

(16). Which is an example of passive transducer that uses the variation in
electrical resistance in wires to sense? | aﬁla gi{-ISIJ\HQ CARHARRLY GI’?I"I W%\_rﬁ

R | faggd Uferiy & Fed &) T & iy SUaiT Sl 82
(A) Bimetallic strips | m@tﬂ
(B) Strain gauge | @ffﬁ\_rf

(C) LVDT

(D) RVDT

Correct Answer : B

(17). Which of the following is a static characteristics of instruments? | W%

o) ek T RS 7ol &1 & IF 41 G 811 82
(A) Dial assembly | STIS et

(B) Indicator assembly | Sfgahcr 3Tl

(C) Scale end of tube | T BT Thdl US

(D) Open end of tube | TJd T AT TS

Correct Answer : D

(18). A barometer is used to measure... | WWW ......... IITq%[%ﬁ’I'Q
fHar ST gl

(A) atmospheric pressure | OIIg‘-IUSQ'iﬁICI dld
(B) absolute pressure | q:Ufa_Gﬂa




(C) gauge pressure | Tl gd1d
(D) any pressure | ﬁémﬁw%

Correct Answer : A

(19). What is the degree of exactness of measurement compared to the exact
value of the variable being measured? | ATU dTcl IR & Il HA Dl Jell d
AT P G il & S 1 Heard g?

(A) Accuracy | J&dl

(B) Error | FfE

(C) Deviation | fadaH
(D) Precision | WA

Correct Answer : A

(20). Which part of bourdon tube pressure gauge is in direct contact with

pressure? | 1§ & U1 TUh T SRS ogd YRR ISl 1 14 1 SR glal 82
(A) Open end of the tube | &I DI Gh'CFTQTS'
(B) Sealed end of the tube | ?ﬂﬁﬁ@ﬁﬂg

(C) Dial assembly | STUd et
(D) Indicator assembly | g%%?&mﬁmﬁﬁ

Correct Answer : A

(21). A technician calibrating a mechanical pressure gauge is gradually increasing
pressure with dead weight taster and checking the gauges indication at several
points, After checking one calibration point the technician accidentally applies too
much pressure and overshoots the next calibration point. What should be done to



obtain the best response from the pressure gauge? | wﬁ%ﬁwﬁmﬁﬁrﬁ
Ficrsic B 11 Uh dhAIRa eR-¢R $8 de ¢ & 1Y ¢a1d ¢T38
3R w3 gl RIS Tord & g HR T 8, T 3R foig Bt oI v &b
TG dH-N1R1A T § 9gd SHTUP Ga1d AL BT & SR AT i fag o
3T e d Tl & | IR ST § arad fdfehar Ut S & fore t fosan S
Bl

(A) Reduce pressure well below the intended calibration point and increase the

pressure gain | 3fa5d 32T foig ¥ HTH! -1a TaTd HH B 3R a1 ATH
JgII

(B) About the test and get a new pressure gauge | U1&07 o aI H GﬁTQa'T'_'PZIT
GaTd A1 DT T U HAT

(C) Carefully reduce pressure down to the intended calibration point,

approaching it from the opposite direction | foa fezn g GH?TE'E 31%?{

(D) Completely cut pressure form the gauge and Re-check all calibration points
from zero upwards again | ﬁﬁ@ﬁlﬁﬁ@ dre T HH B @T@@Wﬁ
3R G 3i=Tieh fagaii o fth I SifeT

Correct Answer : A

(22). All the measurements taken by measuring instruments should be traceable

to... | SUDRUN DI AT GRT fe M WA AMG.............. TR & g AN
(A) primary standard | MYHS A S

(B) secondary standard | A S AFS

(C) laboratory standard | UIRTRITA] A D

(D) international standard units | 3{ARTSIA H-ch ShTSAl

Correct Answer : D



(23). Which measurement is taken as absolute pressure? | U;Uf adld &g H Oh\I-I

1 aF ferar S 82
(A) Vacuum |ﬁaﬁ

(B) Atmosphere | EITQ,TI@F[
(C) Pressure gauge | URR TS

(D) Absolute temperature | fARU& dTOHT

Correct Answer : A

(24). In dead weight gauge, weights are added on the top of piston until the
piston reaches a datum level. What is the term used to refer the datum level? |

$8 3¢ N9 A, fUes & e IR aoi4 99 d SNST S1dl § oid de (& fUed U
STH TR I a! Ugd SIIdT| SeTH TR I U4 HR- o 1078 [ Teq BT UTNT
ERIIGIE,

(A) Null point where the document force balances the fluid pressure | Q]Fqﬁ@

(B) Lowest point of the container | WWW%@
(C) Side point of the container | WWUT”J%@
(D) Highest level of fluid in the container | HeR H TRd Uerd &1 I=aH TR

Correct Answer : A

(25). Pressure transducer is used to convert between... | GdId gi{-ISIJ\HQ DI

STM........... &I gRafdd s H gl g |
(A) light into pressure quantities | UHI I gard H

(B) temperature into pressure quantities | dTUHIH Ca adld H

(C) flow into pressure quantities | Ydlg | dld H



(D) Pressure into electrical quantities | Wﬁﬁ?{ﬁﬂﬁ

Correct Answer : D

(26). What is the purpose of documenting an ‘As found’ calibration in addition to
documenting the ‘As Left’ calibration for an instrument? | WW%W
ST TR 3i=TTeh 1 SITGHTCT R & SITTaT ‘SIT UTT T =TT I
SITGHET B BT 352 T g2

(A) Ensure perfect accuracy | qﬁﬂeﬂwgﬁ@ﬁm

(B) Eliminate instrument hysteresis | W%@ﬁ@ﬂﬁ?ﬂﬁ

(C) Help others locate the instrument | SUD U] @6:I H §ﬂ€|‘ﬁmm

(D) Measure calibration drift | WWW

Correct Answer : D

(27). What is the name of pressure measured with respect to another pressure?
U 1§ & ot H gOR &4 &I T PHel g2

(A) Gauge pressure | 7151 ga1d

(B) Absolute pressure | qvfa‘eﬂa’

(C) Atmospheric pressure | OIIg‘-IUSQ'iﬁICI dld
(D) Differential pressure | SIFHRITA GaATd

Correct Answer : D

(28). What is the name of pressure measured using a gauge? | Wﬁﬁﬁw

PHIb <dId bl AT BT T T1H 82
(A) Atmospheric pressure | W@Tﬂﬁm

(B) Gauge pressure | Tl gd1d



(C) Absolute pressure | [FMRU& gaTd
(D) Differential pressure | SRR T

Correct Answer : B

(29). Which instrument has identical calibration for AC as well as DC values? |

5T IUBOT T AC B FTY-TTY DC HH P 7T JH HeTg=RM BT 82

(A) Hot wire type | 8I¢ AR UHR

(B) Moving coil type | H@TWW

(C) Induction type | IRUIUHR
(D) Moving iron type | Hﬁ'ﬂ&ﬂ%ﬂw

Correct Answer : A

(30). Which transducer converts measured value into the form of pulse output? |

P T TSR AU T AT &1 Ued 33cyc & ¥ H URafdd &l g2
(A) Active transducer | U@HW

(B) Analog transducer | TTAIIT CIISYER
(C) Digital transducer | NES giﬂsq\%ie

(D) Pulse transducer | U] c;i{-lslg\{-lﬁ

Correct Answer : C

(31). What is the medium of working in the dead weight tester? | SSdceeyH

BT B BT HIEH T 22
(A) Air | TR
(B) Water | dicy



(C) Alcohol |QFIWU'IT“T
(D) Medium weight oil | Hif$TH de 3ffgd

Correct Answer : D

(32). A manometer is used to measure ... | Wﬁ:ﬁjﬂawmﬂ ...... ICRIIGI
&

(A) pressure in pipes, channels etc. | UIgU, ECI] W%ﬁﬂ‘lﬁﬂﬂﬁ%%ﬂ

(B) very low pressure | dgd P H qld 1o %]%’I'Q

(C) difference of pressure between two points | ?«Pf mg% dd Gd1d Bl AR G

{94 & forw

(D) atmospheric pressure | Ollgl-isc'inlbl adld ¢ld g1 %]%’I'Q

Correct Answer : C

(33). Which device is used to measure the atmospheric pressure? | a'rqqs—cﬂtr

2d1d &1 HUA & folu foh g IUSRUT BT SUTNT fobaT ST 32
(A) LVDT

(B) Barometer | SRR
(C) Load cell | IS TSl
(D) Strain gauge | ¥ 7ol

Correct Answer : B

(34). What is the advantage of mechanical comparator over others? | QFR-l'ﬁ

I H Ao BN &1 o Y g2

(A) Less moving parts | ©H SREKCINRIR]




(B) No need of external supply | ST&<I 3TYfd B! PIs SAIHI Tol
(C) No error due to parallax | W%Wﬁéﬁ%:ﬁf
(D) Large range of instrument | Wﬁﬁﬁ

Correct Answer : B

(35). The repeat accuracy of an instrument can be judged from its.... | ...........

SUHRUN &1 GIeRId Teidbdl I [hdhl STl TRl ol bl g |
(A) Static error | Rfd® Ffe @I

(B) Linearity error | YR dl &1 Ff BT

(C) Dynamic error | TTicIRiTe Ffc BT

(D) Standard deviation of error | AT fael Ffc &1

Correct Answer : D

(36). What is the shape of the simple manometer? | e AHeR o7 3P R
FTG?

(A) C-shape | HI-3{THR
(B) L-shape | UcT -3MTPR
(C) Inclined | FPT

(D) U-shape | 9-3{ThRR

Correct Answer : D

(37). When pressure is applied to one limb of the manometer liquid level.... | ©Id

TR foif s dladl & Ueh WS TR Ca1d ST Wl g 8 dRA &R ... |

(A) increases in that limb | 39 98 frqlr@ él?“ %



(B) increases in the other limb | @@ﬁg@
(C) decreases in the other limb | @%E@'ﬁﬂ?ﬁlﬁﬁ%
(D) becomes equal in both the limbs | ﬁmﬁws‘rw%

Correct Answer : B

(38). Working principle of Mcleod gauge is ... | EIOI?Q'1T5 Tl BT BRI R«gid

(A) boyle's law | J19d &1 a8

(B) charle's law | I o1 g

(C) Ohm's law | 3NF &1 fHaH

(D) kirchhoff's law | Toh=To T g H

Correct Answer : A

(39). Which of the following measuring instrument can measure pressure

directly? | IR & 9 &9 7T AT SUBRUT 1Y o1 AT JohdT 82
(A) LVDT

(B) Strain gauge | ¢ TIol

(C) Rotameter tube | JCTHIC &[d

(D) Bourdon tube | S189 g

Correct Answer : D

gl

(40). What is the name of force acting per unit cross sectional area? | EI'[%[WI@

UR YR &7 7 S 9 1 Hgardi 8
(A) Weight | HRR
(B) Volume | 3Tddd



(C) Friction | Yo
(D) Pressure | qdld

Correct Answer : D

(41). Which device is used to convert pressure into displacement? | oI 3

2d1d T gaa & ot fhyg SUBRUT b1 SUTNT fohar SirdT 22
(A) Bellow | Sdl

(B) Spring | foiT
(C) Diaphragm | STUhTH
(D) Bourdon |§h€_"[

Correct Answer : C

(42). Which of the following manometer does not require levelling? | ﬁ'ﬁﬁ@

fop e B AafeiT &1 STaRgehdl Ta! sl 82

(A) Digital manometer | fSfSTed AAIHIeR

(B) U-tube manometer | J-&J§ HAHICR

(C) Well type manometer | dd CIgU HAHICR

(D) U-tube and well type manometer | J-¢gd 3R 9@ e13U HAHICR

Correct Answer : A

(43). High pressure measuring bourdon tube is made up of which material? | 3=

&1§ AU a1l IRTF e fhd uerd ¥ &+ gt 82
(A) Iron |?’h€T

(B) Copper | didl




(C) Bronze | didd
(D) Stainless steel | TAad ©d

Correct Answer : D

(44). How the very low pressure is expressed in microns () which is equal to how
much mm of Hg column (Absolute) at 0°C? | sfigd 9 H qdId ﬁl-llscb\l-l (u)ﬁﬁ
o a1 ST 8 S 0°C R Hg I (MRUe) & fora- fieft & sRTaR 87

(A) 0.0001

(B) 0.001
(C) 0.01
(D) 0.1

Correct Answer : B

(45). When the pressure is high the bourdon tube... | Sid qdld 3=l '5-\|C|| %, dd
NI & ... ST I B

(A) curls | HTGR

(B) elongates | ngﬁaﬁ\_rl'l?ﬂ%

(C) rotates | T:[\_rl'l?ﬁ%

(D) straighten out | ?ﬁ%ﬁfﬁ\_ﬂ'ﬁﬁ%

Correct Answer : D

(46). What is the expected output if the input pressure is 235 PSIG with a pressure
transmitter is calibrated range of 200 to 300 PSIG at operating range of 4-20mA?

| TfE 399c 919 235 PSIG & 3R TS ST TIAHICR 4-20mA BT STIRFET I TR
200 300 PSIG B HIcTSICS 91 § I TUferd 3fM3cye a1 g2




(A) 1.6 MA
(B) 16.5MA
(C) 5.6 MA
(D) 9.6 MA

Correct Answer : D

(47). What is applied for the working of piezo - electric transducer? | ﬁ\_rﬁ

SAfaed CIRIGIER &1 B 6+ & foTT 1 ST el § Uiol - Saifae s
SIISYER?

(A) Heat | BHBHI

(B) Vibrations | U4

(C) Hlumination | =T

(D) Mechanical force | BIECAC]

Correct Answer : D

(48). Absolute pressure is equal to... | qﬂfa—maw ...... %I

(A) atmospheric pressure + gauge pressure | dlgl-iSQ“Inlq qdld + Tl adld

(B) vacuum pressure -atmospheric pressure | 3@% dld -dlgl-iSQ'inlq cdld

(C) vacuum pressure + atmospheric pressure | élcl'ljj-l qdld + dlgl-iSQ“Inlq cdld

(D) atmospheric pressure - gauge pressure | dlgl—ism“lq qdld - Tl dld

Correct Answer : A

(49). Which state the gases used in industries are stored? | 3€j|=i|'ﬁu§aaﬁ@fﬁ
fore =0 o dufed foar smar g2



(A) Solid state | 3 aRTH

(B) Vapour state | AT 3R H
(C) Liquid state | dXdl 3R H
(D) Plasma state | WITGHI 3R H

Correct Answer : C

(50). Which instrument is used for measurement of differential pressure? | 3R

G419 U1 & foTg fordy SUam0r &1 ST foed oI 82
(A) Bellow gauge | S@l 7ol

(B) Manometer | HHHICY

(C) Pressure gauge | URR 7ol

(D) Dead weight tester | S8 dc oy

Correct Answer : B



